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6. Simplify the following expression.

Study Island
(6x3-9x%-3) - (3x-7x-7)
1. Simplify the following expression. O A. 33 -9 + 7x - 10
(-7%% + 20%7 - 5x - 4) + (83 + 172 - 14x - 21) OB.3-9%+7x+4
O A X3 +37x% - 19x - 25 O C.9*-9%*-7x- 10
O B.8x3+37x%- 19x + 25 O D.3x*-9x%-Tx +4

O C.-15x3 + 20x% + 19x + 25

3 2 _

O DX+ 37x"-5x + 17 7. Simplify the expression given below.

o (552 — 8z + 24) + (8x3 — 14z2 + 14z + 18)
2. Simplify: (8x2 + 6x + 3)(2x + 6)

O A 8z3 — 1922 4 22z + 42
) B.—8x3 — 9x2 4+ 6x + 6
O C.82% —9z2 4+ 222 + 6
O D.8z3 — 922 4 6z + 42

Oy A. 16x% + 36x% + 42x + 18
O B. 16x3 + 60x? + 30x + 18
O C. 16x3 + 60x2 + 42x + 18
O D. 16x3 + 36x? - 30x + 18

o i . 8. Simplify the following expression.
3. Simplify the following expression.

(20m - 2n)(4m + 11n)
O A. 40m? + 118mn - 22n?
O B. 40m? - 22n?
O C. 40m? + 102mn - 22n?
¢ D. 14m + 13n

2X(4x - 3)
O A. 8x% + 10x
O B. 8x% + 2x
O C. 8x? - 6x
O D. 8x? - 2x

L 9. A polynomial expression is shown below.
4. Simplify: (4x? + 3x + 5)(5% - 5)

_ (6x* - 3x%) + (X* - 5)(qx? + 5)
O A. 20x3 + 35x% + 40x + 25

O B. 20x% - 5x% + 10x - 25 The expression is simplified to 32x2 - 25.
O C. 20x3 - 35x? + 40x - 25

What is the value of g?
O D. 20x3 - 5x% + 10x + 25

O A 12

O B.-12

5. Simplify the expression given below. 0 C.6

T D.-6
(1023 — 2) — (5z2 + 5z — 9) '

OA 1083 — 42 — 4 4+ 7

OB.5x3 — bz + 7

OC.10x3 — 522 — 5z + 7

O D.10z? 4+ 5z 4 5z + 11



10. Simplify: (6x2 + 9x - 12)(3x - 6)
15. Simplify the following expression.

O A.18x%- 9x% - 90x - 72 (4x - 1)2
O B. 18x3-63x% + 18x + 72 O A 16x2-8x+1
O C.18x% + 63x% + 18x - 72 O B.16x%-4x+1
O D. 18x% - 9x% - 90x + 72 O C.16x°+8x+ 1

O D.16x2-1

11. Simplify the following expression.
16. Simplify the following expression.

(8% + 3x*- 6) + (-3x* + 7x - 3) (9m - 3n)(4m + 7n)
O ABC+3X%+7x-9 O A. 36m? + 51mn - 21n?
OB 113 +3x% +7x+9 ¢ B. 13m + 10n
OC.53+7x+9 ¢ C. 36m? + 75mn - 21n?
O D. 11x° + 3x* + 7x - 3 O D. 36m? - 21n?

12. A polynomial expression is shown below.

17. Simplify the following expression.
ex(2x3 + 4x2 - 6) - (X2 + 5)(X? + 6)
(8% + 11x* - 23x3 - 8x% - 14) - (7x® - 17x* + 10x3 -
The expression is simplified to 15x* + 32x3 - 11x? - 2x + 25)
48x - 30. O A 15x8 + 28x* - 33x3 - 8x? + 2x + 39

) B. x® +28x* - 33x% - 8x% + 2x - 39

What is the value of ?
) C. 15x8 + 28x* - 33x® - 6x - 39

O A8
- 6 4 3 2
O B.-7 O D.x°-6x"-13x" - 8x°-2x + 11
OcC.-8 18,
O D.7

Awall with an area of (3)(2 4y +1) square units has a rectangular window thet has a width of
(1+2) units and a length of (1 + 1) units. The wall also has a buit-i shelving unitthat occupies an
area of (x2 + 01+ 6) square unis of wall space. I the wall s to be covered with walloaper, how much
(3" - 6x° + Ox* + 2x - 4) - (-6x" - 5x° - 3x” - 3x +2)  yalpaper wil be requied?
O A X +11xC -6+ X+ 2

O B.9x*-x3+12x* +5x - 6 |
O C.-3x - 113 +6x2-x -2

O DX - 113 +6X2 - x -2

13. Simplify the following expression.

X-)square units

14. Simplify: (2x - 6)(7x? + 3x - 10)

O A. 14x3 - 36x% - 38x + 60
) B. 14x3 - 48x? - 2x + 60
O C. 14x3 - 36x% - 38x - 60
O D. 14x3 + 48x% - 2x - 60



